1. Write an equation of this function: 4“’\1) Graph one period of each. Label the coordinates of the Max, Min, and points

e£,-9) (22.-9) 3T,
Cos EQ; m \d,\\v\l)

jf—i 055 (X'%@%@q

. in : on the midline. i ; —[—L . q — l
" Ry : 0
= =

4. Giventan = -3 and cosd > 0, find 6 such that 0° < 6 < 360°.
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5. A 70 foot long rope is attached to the bottom of a window of an apartment
building. The rope is pulled tight and anchored to a stake in the ground. If the

stake is 55 feet from the apartment building find the angle the ro;ie akes with th} Sec 13'6: The Tangent FunCtion
building to ne a degree. -
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Use this Rational Function: 2 -9 ()({’31)(9 Graph the function Y ;= Tanx
Find the Vertical Asymptotes Find the x-intercepts: Use this Window: x:[0,4n] vy:[-10, 10]
zeros of the denom”lfa_"or zeros of the numerator.
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What is the period of Why does the graph of

1 the Tangent Function?
10 =Tan® look like this?
J J J 4r lDTaJlMIOL+l'] y=T look like th
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Tan® = 0 and there is an x-intercept

One, When x = 0

%((L Tan®B is undefined and there is a Vertical Asymptote
The Parent Tangent Function: 'y = Tanx
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Period of Tan® = 1 y SIHQ
4r Tanb = X S —
) What are the Eq's of the_[L ﬁ Cosf
Vertical Asymtpotes? 7, / 1

What are the x-intercept@’ Trl QT(., 3T[ / \1T\



Leave Y =Tanx. GraphY; = Sinx.
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How is the graph of Tanx
related to the graph of Sinx?

Tanx is zero whenever
Sinx is zero.

In other words,

Tanx has x-intercepts
where ever Sinx has
x-intercepts.

y = Tanx

Since Tanx = %

you can remember which way y=Tanx moves if
you relate it to slope.

A positive Tanx moves up and to the right like a
positive slope.

Leave Y, = Tanx. Graph Y, = Cosx.
How is the graph of Tan6

A
[ / related to the graph of Cos6?
[ Tan6 has a VAwhenever

Cosb is zero.

y =alanx a Ifa<0 thereis an x-axis reflection

A negative Tanx,
just like negative slope, moves
down and to the right.

ais also a Vertical Stretch or Shrink Factor but.....

there are really no points to define how "tall" the Parent
Tangent function is so we will only concern ourselves with
whether a is positive or negative.



Sin(bx)
y = Tan(bx) = Cos(bx)

b: The period of Tanbx = %
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" period

VA occur wherever Cos(bx)=0

x-int occur wherever Sin(bx)=0

The Tangent function is graphed in the window 0 to 2. — -—r

. 1. What is the period?
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* 2. What is the equation
of this Tangent Functio
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The Tangent function is graphed in the window 0 to 2. b — l—-
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1. What is the period? _E};
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2. What is the equation | ;=
of this Tangent Function?
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The Tangent function is graphed in the window 0 to 2 n.¢ /I;‘ - L{
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1. What is the period?
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2. What is the equation
of this Tangent Function?
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The Tangent function is graphed in the window 0 to 6. ( _
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1. Whatlsthepenod’Pj 3
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2. What s the equatlon
of this Tangent Function? )q
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Write the equation of this Tangent Function
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